Name: 3-Digit by 2-Digit Multiplication

4 . 1)
L The 12 inch nose! )

Find the products. Then, solve the riddle by
matching the letters to the blank lines below.

1] 113 (1) 333 [0 903 (O] 501
X 23 X 44 X 68 X 34

O] 962 (L] 868 (1] 421 [N] 202
X 48 X /8 x 35 X 96

Preview

Please log in to download
the printable version of this worksheet.

44 A Z/ XA 44

Why can’t a nose be 12 inches long?

14,652 23,907 23,208 19,392 2,599 28,084

63,364 17,034 40,128 67,704 11,172 10,476 3,712 14,769

23,340 46,176 61,404 14,735
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ANSWER KEY

3-Digit by 2-Digit Multiplication

-

The 12 inch nose!

N

N
J

Find the products. Then, solve the riddle by
matching the letters to the blank lines below.

1] 113 (1) 333 [0 903 (O] 501
23 X 44 X 68 X 34
2,599 14,652 61,404 17,034
©O] 962 [L] 868 [T] 421 N] 202
X 48 X /8 X 35 X 96

4 ¢ 1 =7 _/ L7 7 _(\ 4 1__4___—7 "~ [ 1O\ " _(\

X

Preview

Flease log in to download
the printable version of this worksheet.

Z X 24 X 2/ 4 4
10,476 63,364 23,208 14,769 40,128
Why can’t a nose be 12 inches long?
T H E N I T
14,652 23,907 23,208 19,392 2,599 28,084
W O U L D B E A
63,364 17,034 40,128 67,704 11,172 10,476 3,712 14,769

F o o T
23,340 46,176 61,404 14,735
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